

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

02/07/2023 09:00 AM | Drive To AZ 02/08/2023 08:00 AM | Install Day 1 02/09/2023 08:00 AM | Install Day 2 02/12/2023 11:00 AM | Strike Lombardi & Outdoor 02/13/2023 08:00 AM | Strike 02/14/2023 08:00 AM | Drive Back TO LA

PO: Shipping Address: Omni Montelucia 4949 East Lincoln Drive Scottsdale, Arizona 85253

Chad Whidden (cell: 310.890.2423)

IN-0005774

On Location 245 5th Avenue (6th Floor) New York, NY 10016

Invoice Date: Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
Evening With A I	Legend				
T	Coffee Tables - Shanghai - Rounded Natural Wood	4	\$150.00	Т	\$600.00
i kan	Bars - Bali - Natural Wood 12'	1	\$700.00	Т	\$700.00
	Stand Up Tables - Fiji - Round	10	\$220.00	Т	\$2,200.00
	Coffee Tables - Bora Bora - White Wash	2	\$275.00	Т	\$550.00
	Garden Fire Pit - Metal	4	\$70.00	Т	\$280.00
M	Stand Up Tables - Shanghai - Rounded Natural Wood	4	\$150.00	Т	\$600.00
-		Total Eve	ning With A Leg	end	\$4,930.00
Indoor hospitalit	ty				
	Barback - Monaco - Square Metal ^{gold}	1	\$580.00	Т	\$580.00
	Club Chairs - Lyon Chair Linens + Burlap coming back from invoice #5733	8	\$180.00	Т	\$1,440.00
	Club & Lounge Chairs - Budapest - Side Chair Red Velvet 01	1	\$175.00	Т	\$175.00

Description		Qtty	Price		Total
	Club & Lounge Chairs - Budapest - Side Chair Red Velvet 02	1	\$175.00	Т	\$175.00
1 I I I	Ottomans - Florence - Square White & Wood Carved Legs	4	\$40.00	Т	\$160.00
	Club & Lounge Chairs - Oslo - Club Chair Ice Blue W/ Wood Frame	6	\$180.00	Т	\$1,080.00
	Bars - Carmel - Straight 10' oatmeal linen, send returns for both TBD placement	1	\$700.00	Т	\$700.00
	Bars - Carmel - Curved 6' oatmeal linen, send returns for both TBD placement	2	\$550.00	Т	\$1,100.00
	Bars - Carmel - Straight 5' oatmeal linen, send returns for both TBD placement	2	\$500.00	Т	\$1,000.00
	Accent Table - Oslo - Macassar Wood Star End Table	2	\$120.00	Т	\$240.00
	Sofas - Hamburg - Sectional Left - Midnight Blue Boucle include existing pillows	2	\$550.00	Т	\$1,100.00
	Sofas - Hamburg - Sectional Right - Midnight Blue Boucle include existing pillows	2	\$550.00	Т	\$1,100.00
	Club & Lounge Chairs - Avignon - Cane Back Club Chair	4	\$220.00	Т	\$880.00
	Ottomans - Standard Pod leather, pony and woven see photos	16	\$50.00	Т	\$800.00
	Accent Pillows teal, burgundy, brown leather, brown suede, burlap/oatmeal pillow	30	\$30.00	Т	\$900.00
	Hand Props - Tray 23" Mahogany Wood Round	3	\$35.00	Т	\$105.00
		То	tal Indoor hospita	ality	\$11,535.00
Outdoor Hospita	ality				
	Bars - Santa Fe - Reclaimed Wood Square Full Set Bar	1	\$2,700.00	Т	\$2,700.00

Description		Qtty	Price		Total
THE REAL	Barstools - Bali - Wood & Cane Back Counter Stool	59	\$22.00	Т	\$1,298.00
A	Dining Chairs - Bali - Wood & Cane Back	50	\$27.00	Т	\$1,350.00
F	Club & Lounge Chairs - Fiji - Wing Back Chair	4	\$50.00	Т	\$200.00
P	Club & Lounge Chairs - Fiji - Club Chair	4	\$50.00	Т	\$200.00
	Club & Lounge Chairs - Fiji - Accent Chair	4	\$50.00	Т	\$200.00
	Accent Table - Fiji - Round Large	6	\$65.00	Т	\$390.00
	Hanging Lantern - Marrakesh 01	4	\$110.00	Т	\$440.00
Ŵ	Hanging Lantern - Marrakesh 02	3	\$110.00	Т	\$330.00
	Hanging Lantern - Marrakesh 03	2	\$110.00	Т	\$220.00
	Hanging Lantern - Marrakesh 04	1	\$110.00	Т	\$110.00
••••	Hanging Lantern - Marrakesh 05	2	\$110.00	Т	\$220.00
	Hanging Lantern - Marrakesh 06	3	\$110.00	Т	\$330.00
	Daybeds - Bora Bora - Bamboo	3	\$300.00	Т	\$900.00

Description		Qtty	Price		Total
	Small Dining Tables - Bali - Round Wood Cane Back	10	\$220.00	Т	\$2,200.00
	Stand Up Tables - Bali - Round Wood Cane Back	10	\$220.00	Т	\$2,200.00
	Club & Lounge Chairs - Sedona - Hanging Chair stand painted in white	3	\$220.00	Т	\$660.00
	Dj Booths - Santa Fe - Reclaimed Wood	1	\$400.00	Т	\$400.00
	Hand Props- Kids - Round Open Mesh Rattan Tray	2	\$25.00	Т	\$50.00
\bigotimes	Hand Props- Kids - Round Rattan Tray	2	\$25.00	Т	\$50.00
		Total	Outdoor Hospita	ality	\$14,448.00
Late Night Lou	nge				
T	Oversize Props - Palm Leaves painted gold	2	\$950.00	Т	\$1,900.00
	Bars - Nice - Straight Light Up 8' painted gold, place together in round bar - lit up	3	\$900.00	Т	\$2,700.00
	Bars - Nice - Straight Light Up 5' painted gold, place together in round bar - lit up, include ends painted in gold,	1	\$750.00	Т	\$750.00
	Bars - Nice - Light Up Ends 5' painted gold, place together in round bar - lit up	4	\$650.00	Т	\$2,600.00
	Barback - Tokyo - Straight Basic 6' - Metal painted gold	1	\$300.00	Т	\$300.00
	Accent Table - London - Antique Gold Hourglass Table	4	\$100.00	Т	\$400.00
	Large				

Description		Qtty	Price		Total
	Club & Lounge Chairs - Buenos Aires - Accent Chair Black	4	\$275.00	Т	\$1,100.00
	Ottomans - Hollywood - Black W/ Brass Base	8	\$40.00	Т	\$320.00
	Ottomans - Las Vegas - Round W/ Gold Legs	4	\$40.00	Т	\$160.00
	Panels - Nice - Light Up Hard Panel 02	10	\$650.00	Т	\$6,500.00
	Booths - Nice - Black Velvet 3pc Set	8	\$550.00	Т	\$4,400.00
	Dining Table - Las Vegas - Colored Top & Base Round 66" painted black high gloss	8	\$400.00	Т	\$3,200.00
	Accent Pillows black and burgundy pillows only (see photos)	30	\$30.00	Т	\$900.00
	Barstools - Buenos Aires - Gold 30 burgundy cushions, 20 black cushions	49	\$22.00	Т	\$1,078.00
	Barstools - Buenos Aires - Cushion Covers Barstool Barstool - Buenos Aires - Cushion Cover - Burgundy Velvet	30	\$0.00	Т	\$0.00
	Barstools - Buenos Aires - Cushion Covers Barstool Barstool - Buenos Aires - Cushion Cover - Black Velvet	20	\$0.00	Т	\$0.00
\bigcirc	Dj Booths - Nice - Oval Light Up - Gold	1	\$450.00	Т	\$450.00
	Hooks/ Lances/ Hook Boxes - Chandelier Hook 12' black rouching, black box, sand bags, *palm chandelier hung*	8	\$250.00	Т	\$2,000.00
	Chandelier - Brussels - Palm Tree 33"W x 30"H - 24lb - 150 Watts, rigging team to hang chandeliers	8	\$400.00	Т	\$3,200.00
	Hand Props - Kids - Tray 19" Round For Ottomans painted gold	6	\$40.00	Т	\$240.00

Description		Qtty	Price		Total	
		Total Late Night Lounge		nge	\$32,598.00	
Lombardi Loung	je					
	Bars - Madrid - Moulding Dark Wood 8'5"	1	\$720.00	Т	\$720.00	
	Bars - Madrid - Molding Light Wood 8'5"	1	\$720.00	Т	\$720.00	
	Sofas - Lisbon - Teal Velvet include pillows	1	\$350.00	Т	\$350.00	
	Sofas - Lisbon - Burgundy Velvet include pillows	1	\$350.00	Т	\$350.00	
	Sofas - Lisbon - Blue Velvet include pillows	1	\$350.00	Т	\$350.00	
F	Club & Lounge Chairs - Lisbon - Club Chair Teal Velvet include pillows	2	\$220.00	Т	\$440.00	
F	Club & Lounge Chairs - Lisbon - Club Chair Blue Velvet include pillows	2	\$220.00	Т	\$440.00	
	Club & Lounge Chairs - Lisbon - Club Chair Burgundy Velvet include pillows	2	\$220.00	Т	\$440.00	
8	Ottomans - Beirut - Ivory Velvet	6	\$90.00	Т	\$540.00	
	Coffee Tables - Manchester- Round Wood	3	\$220.00	Т	\$660.00	
V	Stand Up Tables - London - Dark Wood	7	\$220.00	Т	\$1,540.00	
V	Small Dining Tables - London - Dark Wood	6	\$220.00	Т	\$1,320.00	
Å	Barstools - London - Leather	16	\$12.00	Т	\$192.00	

Description		Qtty	Price		Total
4	Floor Lamp - Abu Dhabi - W/ Lamp Shade 15"W x 70"H - 100 Watts	4	\$150.00	Т	\$600.00
11-1	Dining Chairs - Tuscany - Upholstered W/ Wood Legs	24	\$22.00	Т	\$528.0
•		Tota	al Lombardi Lou	nge	\$9,190.00
Misc:					
	Roll of Gold Lycra cover areas and/or inside of bars	1	\$0.00	Т	\$0.00
	Roll of Black Lycra cover areas and/or inside of bars	1	\$0.00	Т	\$0.00
	Ladders for Chandelier rigging and panels	2	\$0.00	Т	\$0.00
			Total Misc:		\$0.00
Services					
	Driving to AZ - February 7th	10	\$400.00		\$4,000.00
	Install Day 1 - Feb 8th	10	\$500.00		\$5,000.00
	Install Day 2 - Feb 9th	10	\$450.00		\$4,500.00
	Dark Day - Feb 10th	10	\$250.00		\$2,500.00
	Dark Day - Feb 11th	10	\$250.00		\$2,500.00
	Strike - Feb 12th	10	\$350.00		\$3,500.00
	Strike - Feb 13th	10	\$500.00		\$5,000.00
	Drive Back To LA - Feb 14th	10	\$400.00		\$4,000.00
	Per Diems	10	\$560.00		\$5,600.00
	Van + Gas Surcharge	1	\$1,600.00		\$1,600.00
	Truck + Gas Surcharge	8	\$2,800.00		\$22,400.00
	Manager Fees: revisions, production, etc	1	\$300.00		\$300.00
	Misc: Supplies, Materials, Packing, Etc.	1	\$1,400.00		\$1,400.00

Please make checks payable to Revelry, Inc.	Total Products:	\$72,701.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$62,300.00
Please ready the contract and sign it	Taxes (tax excempt):	\$0.00
	Discounts:	(\$0.00)
Notes 80% (\$108,000) deposit due for confirmation	Total:	\$135,001.00
	Payments:	(\$135,001.00)

Balance: \$0.00